

DUAL STREAM PAPER, COMMINGLE, AND PLASTIC RECYCLING SERVICES AND/OR HAULING SERVICES

(Values based on annual value times estimated annual tonnage)

BFI Transfer Systems of VA, LLC

**Proposal #1: Paper Recycling (with Cartons)**

Description	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge	(\$131.21)	-	2,000.00	(\$262,420.00)
Paper	\$14.17	60.00%	1,500.00	\$12,753.00
Cardboard	\$95.83	60.00%	500.00	\$28,749.00
<b>Adjusted Total</b>				<b>(\$220,918.00)</b>
<b>Option: Tractor and Trailer</b>				
Mileage	\$ (7.66) per mile			

**Proposal #3: Mixed Rigid Plastic (with Metal)**

Description	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge	(\$159.99)	-	106.00	(\$16,958.94)
Mixed Rigid Plastic with Metal	\$40.00	40.00%	106.00	\$1,696.00
<b>Adjusted Total</b>				<b>(\$15,262.94)</b>
<b>Option: Tractor and Trailer</b>				
Mileage	\$ (7.66) per mile			

**Proposal #2: Commingle Recycling**

Description	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge	(\$108.35)	-	1,200.00	(\$130,020.00)
Glass	(\$12.50)	0.00%	840.00	\$0.00
Aluminum Cans	\$956.67	60.00%	60.00	\$34,440.12
Plastic	\$60.00	60.00%	180.00	\$6,480.00
Steel Cans	\$282.08	60.00%	120.00	\$20,309.76
Residue	(\$75.00)	0.00%	60.00	\$0.00
<b>Adjusted Total</b>				<b>(\$68,790.12)</b>
<b>Option: Tractor and Trailer</b>				
Mileage:	\$ (7.66) per mile			

**Proposal #4: Mixed Rigid Plastic without Metal**

Description	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge	(\$113.00)	-	106.00	(\$11,978.00)
Mixed Rigid Plastic without Metal	\$60.00	0.00%	106.00	\$0.00
<b>Adjusted Total</b>				<b>(\$11,978.00)</b>
<b>Option: Tractor and Trailer</b>				
Mileage:	\$ (7.66) per mile			

<b>Proposal #5: Mixed (with Cartons) and and Commingle Recycling</b>				
Description	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge	(\$123.59)	-	2,000.00	(\$247,180.00)
Paper	\$14.17	60.00%	1,500.00	\$12,753.00
Cardboard	\$95.83	60.00%	500.00	\$28,749.00
Processing Charge	(\$123.59)	-	1,200.00	(\$148,308.00)
Glass	(\$12.50)	0.00%	840.00	\$0.00
Aluminum Cans	\$956.67	60.00%	60.00	\$34,440.12
Plastic	\$60.00	60.00%	180.00	\$6,480.00
Steel Cans	\$282.08	60.00%	120.00	\$20,309.76
Residue	(\$75.00)	0.00%	60.00	\$0.00
<b>Adjusted Total</b>				<b>(\$292,756.12)</b>
<b>Option: Tractor and Trailer</b>				
Mileage:	\$ (7.66) per mile			

**Proposal #6: Mixed Paper (with Cartons), Commingle, and Rigid Plastic (with Metal)**

Description	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge	(\$123.59)	-	2,000.00	(\$247,180.00)
Paper	\$14.17	60.00%	1,500.00	\$12,753.00
Cardboard	\$95.83	60.00%	500.00	\$28,749.00
Processing Charge	(\$123.59)	-	1,200.00	(\$148,308.00)
Glass	(\$12.50)	0.00%	840.00	\$0.00
Aluminum Cans	\$956.67	60.00%	60.00	\$34,440.12
Plastic	\$60.00	60.00%	180.00	\$6,480.00
Steel Cans	\$282.08	60.00%	120.00	\$20,309.76
Residue	(\$75.00)	0.00%	60.00	\$0.00
Processing Charge	(\$137.13)	-	106.00	(\$14,535.78)
Mixed Rigid Plastic with Metal	\$40.00	60.00%	106.00	\$2,544.00
<b>Adjusted Total</b>				<b>(\$304,747.90)</b>
<b>Option: Tractor and Trailer</b>				
Mileage:	\$ (7.66) per mile			

<b>Proposal # 7: Mixed Paper (with Cartons), Commingle, and Rigid Plastic (without Metal)</b>				
Description	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge	(\$140.52)	-	2,000.00	(\$281,040.00)
Paper	\$14.17	60.00%	1,500.00	\$12,753.00
Cardboard	\$95.83	60.00%	500.00	\$28,749.00
Processing Charge	(\$140.52)	-	1,200.00	(\$168,624.00)
Glass	(\$12.50)	0.00%	840.00	\$0.00
Aluminum Cans	\$956.67	60.00%	60.00	\$34,440.12
Plastic	\$60.00	60.00%	180.00	\$6,480.00
Steel Cans	\$282.08	60.00%	120.00	\$20,309.76
Residue	(\$75.00)	0.00%	60.00	\$0.00
Processing Charge	(\$140.52)	-	106.00	(\$14,895.12)
Mixed Rigid Plastic without Metal	\$60.00	60.00%	106.00	\$3,816.00
<b>Adjusted Total</b>				<b>(\$358,011.24)</b>
<b>Option: Tractor and Trailer</b>				
Mileage:	\$ (7.66) per mile			

<b>Proposal #8: Hauling Services Only</b>
No Bid

ITB 2019-078

DUAL STREAM PAPER, COMMINGLE, AND PLASTIC RECYCLING SERVICES AND/OR HAULING SERVICES

(Values based on annual value times estimated annual tonnage)

Canusa Hershman Recycling Co., LLC

**Proposal #1: Paper Recycling (with Cartons)**

Description	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge	(\$59.00)	-	2,000.00	(\$118,000.00)
Paper	\$14.17	75.00%	1,500.00	\$15,941.25
Cardboard	\$95.83	75.00%	500.00	\$35,936.25
<b>Adjusted Total</b>				<b>(\$66,122.50)</b>
<b>Option: Tractor and Trailer</b>				
Mileage:	\$ (4.95) per mile			

**Proposal #3: Mixed Rigid Plastic Recycling (with Metal)**

Description	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge	(\$100.00)	-	106.00	(\$10,600.00)
Mixed Rigid Plastic with Metal	\$40.00	0.00%	106.00	\$0.00
<b>Adjusted Total</b>				<b>(\$10,600.00)</b>
<b>Option: Tractor and Trailer</b>				
Mileage:	\$ (4.95) per mile			

**Proposal #2: Commingle Recycling**

Proposal #2	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge	(\$75.00)	-	1,200.00	(\$90,000.00)
Glass	(\$12.50)	0.00%	840.00	\$0.00
Aluminum Cans	\$956.67	50.00%	60.00	\$28,700.10
Plastic	\$60.00	0.00%	180.00	\$0.00
Steel Cans	\$282.08	50.00%	120.00	\$16,924.80
Residue	(\$75.00)	0.00%	60.00	\$0.00
<b>Adjusted Total</b>				<b>(\$44,375.10)</b>
<b>Option: Tractor and Trailer</b>				
Mileage:	\$ (4.95) per mile			

**Proposal #4: Mixed Rigid Plastic (without Metal)**

Description	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge:	(\$100.00)	-	106.00	(\$10,600.00)
Mixed Rigid Plastic without Metal	\$40.00	0.00%	106.00	\$0.00
<b>Adjusted Total</b>				<b>(\$10,600.00)</b>
<b>Option: Tractor and Trailer</b>				
Mileage:	\$ (4.95) per mile			

Proposal #5: Mixed Paper (with Cartons) and Commingle Recycling				
Descripton	Per Ton Price	Revenue Share	Annual Tons	Total
No Bid				

Proposal #6: Mixed Paper (with Cartons), Commingle. and Plastic (without Metal)				
Proposal #7	Per Ton Price	Revenue Share	Annual Tons	Total
No Bid				

Proposal #6: Mixed Paper (with Cartons), Commingle, and Rigid Plastic (with Metal)				
Proposal #6	Per Ton Price	Revenue Share	Annual Tons	Total
No Bid				

Proposal #8: Hauling Services Only
No Bid

ITB 2019-078

DUAL STREAM PAPER, COMMINGLE, AND PLASTIC RECYCLING SERVICES AND/OR HAULING SERVICES

(Values based on annual value times estimated annual tonnage)

Goode Companies, Inc.

Proposal #1: Paper Recycling (with Cartons)					Proposal #3: Mixed Rigid Plastic (with Metal)				
Description	Per Ton Price	Revenue Share	Annual Tons	Total	Description	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge	(\$68.50)	-	2,000.00	(\$137,000.00)	Processing Charge:	(\$78.00)	-	106.00	(\$8,268.00)
Paper	\$14.17	50.00%	1,500.00	\$10,627.50	Mixed Rigid Plastic with Metal	\$40.00	0.00%	106.00	\$0.00
Cardboard	\$95.83	25.00%	500.00	\$11,978.75	<b>Adjusted Total</b>				<b>(\$8,268.00)</b>
<b>Adjusted Total</b>				<b>(\$114,393.75)</b>	<b>Option: Tractor and Trailer</b>				
<b>Option: Tractor and Trailer</b>					Mileage: \$ (6.50) per mile				
Mileage: \$ (6.50) per mile					Option: Contractor Hauling Contractor Roll-Off Containers				
Option: Contractor Hauling Contractor Roll-Off Containers					Mileage: \$ (3.10) per mile				
Mileage: \$ (3.10) per mile					Option: Contractor Hauling County Roll-Off Containers				
Option: Contractor Hauling County Roll-Off Containers					Mileage: \$ (3.55) per mile				
Mileage: \$ (3.55) per mile									

Proposal #2: Commingle Recycling				
Description	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge	(\$68.50)	-	1,200.00	(\$82,200.00)
Glass	(\$12.50)	100.00%	840.00	(\$10,500.00)
Aluminum Cans	\$956.67	50.00%	60.00	\$28,700.10
Plastic	\$60.00	0.00%	180.00	\$0.00
Steel Cans	\$282.08	25.00%	120.00	\$8,462.40
Residue	(\$75.00)	100.00%	60.00	(\$4,500.00)
<b>Adjusted Total</b>				<b>(\$60,037.50)</b>
<b>Option: Tractor and Trailer</b>				
Mileage: \$ (6.50) per mile				
Option: Contractor Hauling Contractor Roll-Off Containers				
Mileage: \$ (3.10) per mile				
Option: Contractor Hauling County Roll-Off Containers				
Mileage: \$ (3.55) per mile				

Proposal #4: Mixed Rigid Plastic (without Metal)				
Description	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge:	(\$68.50)	-	106.00	(\$7,261.00)
Mixed Rigid Plastic without Metal	\$40.00	0.00%	106.00	\$0.00
<b>Adjusted Total</b>				<b>(\$7,261.00)</b>
<b>Option: Tractor and Trailer</b>				
Mileage: \$ (6.50) per mile				
Option: Contractor Hauling Contractor Roll-Off Containers				
Mileage: \$ (3.10) per mile				
Option: Contractor Hauling County Roll-Off Containers				
Mileage: \$ (3.55) per mile				

Proposal #5: Mixed Paper (with Cartons) and Commingle Recycling				
Description	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge	(\$65.00)	-	2,000.00	(\$130,000.00)
Paper	\$14.17	0.00%	1,500.00	\$0.00
Cardboard	\$95.83	0.00%	500.00	\$0.00
Processing Charge	(\$70.00)	-	1,200.00	(\$84,000.00)
Glass	(\$12.50)	100.00%	840.00	(\$10,500.00)
Aluminum Cans	\$956.67	0.00%	60.00	\$0.00
Plastic	\$60.00	0.00%	180.00	\$0.00
Steel Cans	\$282.08	0.00%	120.00	\$0.00
Residue	(\$75.00)	100.00%	60.00	(\$4,500.00)
<b>Adjusted Total</b>				<b>(\$229,000.00)</b>
<b>Option: Tractor and Trailer</b>				
Mileage:	\$ (6.50) per mile			
Option: Contractor Hauling Contractor Roll-Off Containers				
Mileage:	\$ (3.10) per mile			
Option: Contractor Hauling County Roll-Off Containers				
Mileage:	\$ (3.55) per mile			

Proposal #7: Mixed Paper (with Cartons), Commingle, and Rigid Plastic (without Metal)				
Description	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge	(\$70.00)	-	2,000.00	(\$140,000.00)
Paper	\$14.17	0.00%	1,500.00	\$0.00
Cardboard	\$95.83	0.00%	500.00	\$0.00
Processing Charge	(\$75.00)	-	1,200.00	(\$90,000.00)
Glass	(\$12.50)	100.00%	840.00	(\$10,500.00)
Aluminum Cans	\$956.67	0.00%	60.00	\$0.00
Plastic	\$60.00	0.00%	180.00	\$0.00
Steel Cans	\$282.08	0.00%	120.00	\$0.00
Residue	(\$75.00)	100.00%	60.00	(\$4,500.00)
Processing Charge	(\$75.00)	-	180.00	(\$13,500.00)
Mixed Rigid Plastic without Metal	\$40.00	0.00%	106.00	\$0.00
<b>Adjusted Total</b>				<b>(\$258,500.00)</b>
<b>Option: Tractor and Trailer</b>				
Mileage:	\$ (6.50) per mile			
Option: Contractor Hauling Contractor Roll-Off Containers				
Mileage:	\$ (3.10) per mile			
Option: Contractor Hauling County Roll-Off Containers				
Mileage:	\$ (3.55) per mile			

**Proposal #6: Mixed Paper (with Cartons), Commingle, and Rigid Plastic  
(with Metal)**

Description	Per Ton Price	Revenue Share	Annual Tons	Total
Processing Charge:	(\$70.00)	-	2,000.00	(\$140,000.00)
Paper:	\$14.17	0.00%	1,500.00	\$0.00
Cardboard	\$95.83	0.00%	500.00	\$0.00
Processing Charge:	(\$75.00)	-	1,200.00	(\$90,000.00)
Glass:	(\$12.50)	100.00%	840.00	(\$10,500.00)
Aluminum Cans:	\$956.67	0.00%	60.00	\$0.00
Plastic:	\$60.00	0.00%	180.00	\$0.00
Steel Cans:	\$282.08	0.00%	120.00	\$0.00
Residue:	(\$75.00)	100.00%	60.00	(\$4,500.00)
Processing Charge:	(\$75.00)	-	180.00	(\$13,500.00)
Mixed Rigid Plastic with Metal	\$40.00	0.00%	106.00	\$0.00
<b>Adjusted Total</b>				<b>(\$258,500.00)</b>
<b>Option: Tractor and Trailer</b>				
Mileage:	\$ (6.50) per mile			
Option: Contractor Hauling Contractor Roll-Off Containers				
Mileage:	\$ (3.10) per mile			
Option: Contractor Hauling County Roll-Off Containers				
Mileage:	\$ (3.55) per mile			

Proposal #8: Hauling Services Only
No Bid

ITB 2019-078

DUAL STREAM PAPER, COMMINGLE, AND PLASTIC RECYCLING SERVICES AND/OR TRANSPORTATION

(Values based on annual value times estimated annual tonnage)

THE DIRT EXPRESS COMPANY

Proposal #1: Paper Recycling (with Cartons)

Description	Per Ton Price	Revenue Share	Annual Tons	Total
No Bid				

Proposal # 3: Mixed Rigid Plastic (with Metal)

Description	Per Ton Price	Revenue Share	Annual Tons	Total
No Bid				

Proposal #2: Commingle Recycling

Description	Per Ton Price	Revenue Share	Annual Tons	Total
No Bid				

Proposal #4: Mixed Rigid Plastic (without Metal)

Description	Per Ton Price	Revenue Share	Annual Tons	Total
No Bid				

Proposal #5: Mixed Paper (with Cartons) and Commingle Recycling

Description	Per Ton Price	Revenue Share	Annual Tons	Total
No Bid				

Proposal #7: Paper, Commingle and Mixed Rigid Plastic with Metal

Description	Per Ton Price	Revenue Share	Annual Tons	Total
No Bid				

Proposal #6: Paper, Commingle and Mixed Rigid Plastic with Metal				
Description	Per Ton Price	Revenue Share	Annual Tons	Total
No Bid				

Proposal #8: Hauling Services Only	
<b>Option 8A: Contractor Owned Tractor and Trailer</b>	
Mileage:	\$(5.57) per Mile
<b>Option 8B: Contractor Owned Truck and Contractor Owned Roll-Off Container</b>	
Mileage	No Bid
<b>Option 8C: Contractor Owned Truck and County Owned Roll-Off Container</b>	
Mileage	No Bid

**ITB 2019-078**  
**DUAL STREAM, PAPER, COMMINGLE, AND PLASTIC RECYCLING SERVICES AND/OR HAULING SERVICES**  
 (Values based on Estimated Annual Materials and per mile/round trip to Market Locations)

BFI TRANSFER SYSTEMS OF VIRGINIA LLC											
Proposal	Description	Recyclables Bid Amount	Tranportation Option #1 Contractor's Trailer	Proposed Bid Totals	Tranportation Option #2 Contractor's Roll-Off Container	Proposed Bid Totals	Tranportation Option #3 County's Roll-Off Container	Proposed Bid Totals	Tranportation - Option #4 County SWD	Proposed Bid Totals	
#1	Paper Recycling	\$ (220,918.00)	\$ (241,198.08)	\$ (462,116.08)	No Bid	No Bid	No Bid	No Bid	\$ -	\$ -	
#2	Commingle	\$ (68,790.12)	\$ (171,234.70)	\$ (240,024.82)					\$ -	\$ -	
#3	Mixed Plastic With Metal	\$ (15,262.94)	\$ (41,555.50)	\$ (56,818.44)					\$ -	\$ -	
#4	Mixed Plastic Without Metal	\$ (11,978.00)	\$ (41,555.50)	\$ (53,533.50)					\$ -	\$ -	
#5	Paper and Commingle	\$ (292,756.12)	\$ (412,432.78)	\$ (705,188.90)					\$ -	\$ -	
#6	Paper, Commingle and Plastic with Metal	\$ (304,747.90)	\$ (453,988.28)	\$ (758,736.18)					\$ -	\$ -	
#7	Paper, Commingle and Plastic without Metal	\$ (358,011.24)	\$ (453,988.28)	\$ (811,999.52)					\$ -	\$ -	

CANUSA HERSHMAN RECYCLING CO., LLC											
Proposal	Description	Recyclables Bid Amount	Tranportation - Option #1 Contractor's Trailer	Proposed Bid Totals	Tranportation Option #2 Contractor's Roll-Off Container	Proposed Bid Totals	Tranportation Option #3 County's Roll-Off Container	Proposed Bid Totals	Tranportation - Option #4 County SWD	Proposed Bid Totals	
#1	Paper Recycling	\$ (66,122.50)	\$ (130,345.40)	\$ (196,467.90)	No Bid	No Bid	No Bid	No Bid	\$ (146,357.89)	\$ (212,480.39)	
#2	Commingle	\$ (44,375.10)	\$ (105,444.46)	\$ (149,819.56)					\$ (172,787.16)	\$ (217,162.26)	
#3	Mixed Plastic With Metal	\$ (10,600.00)	\$ (19,433.00)	\$ (30,033.00)					\$ (18,586.02)	\$ (29,186.02)	
#4	Mixed Plastic Without Metal	\$ (10,600.00)	\$ (19,433.00)	\$ (30,033.00)					\$ (18,586.02)	\$ (29,186.02)	
#5	Paper and Commingle	\$ (110,497.60)	\$ (235,789.86)	\$ (346,287.46)					\$ (319,145.05)	\$ (429,642.65)	
#6	Paper, Commingle and Plastic with Metal	\$ (121,097.60)	\$ (255,222.86)	\$ (376,320.46)					\$ (337,731.07)	\$ (458,828.67)	
#7	Paper, Commingle and Plastic without Metal	\$ (121,097.60)	\$ (255,222.86)	\$ (376,320.46)					\$ (337,731.07)	\$ (458,828.67)	

THE GOODE COMPANIES, INC.											
Proposal	Description	Recyclables Bid Amount	Tranportation - Option #1 Contractor's Trailer	Proposed Bid Totals	Tranportation - Option #2 Contractor's Roll-Off Container	Proposed Bid Totals	Tranportation - Option #3 County's Roll-Off Container	Proposed Bid Totals	Tranportation - Option #4 County SWD	Proposed Bid Totals	
#1	Paper Recycling	\$ (114,393.75)	\$ (110,993.40)	\$ (225,387.15)	\$ (141,844.84)	\$ (256,238.59)	\$ (162,435.22)	\$ (276,828.97)	\$ (92,427.93)	\$ (206,821.68)	
#2	Commingle	\$ (89,224.98)	\$ (78,098.20)	\$ (167,323.18)	\$ (138,716.32)	\$ (227,941.30)	\$ (166,605.76)	\$ (255,830.74)	\$ (89,224.98)	\$ (178,449.96)	
#3	Mixed Plastic With Metal	\$ (8,268.00)	\$ (16,882.00)	\$ (25,150.00)	\$ (18,020.30)	\$ (26,288.30)	\$ (20,636.15)	\$ (28,904.15)	\$ (11,742.26)	\$ (20,010.26)	
#4	Mixed Plastic Without Metal	\$ (7,261.00)	\$ (16,882.00)	\$ (24,143.00)	\$ (18,020.30)	\$ (25,281.30)	\$ (20,636.15)	\$ (27,897.15)	\$ (11,742.26)	\$ (19,003.26)	
#5	Paper and Commingle	\$ (229,000.00)	\$ (189,091.60)	\$ (418,091.60)	\$ (287,331.56)	\$ (516,331.56)	\$ (329,040.98)	\$ (558,040.98)	\$ (181,652.91)	\$ (410,652.91)	
#6	Paper, Commingle and Plastic with Metal	\$ (258,500.00)	\$ (205,973.60)	\$ (464,473.60)	\$ (305,351.86)	\$ (563,851.86)	\$ (349,677.13)	\$ (608,177.13)	\$ (193,395.17)	\$ (451,895.17)	
#7	Paper, Commingle and Plastic without Metal	\$ (258,500.00)	\$ (205,973.60)	\$ (464,473.60)	\$ (305,351.86)	\$ (563,851.86)	\$ (349,677.13)	\$ (608,177.13)	\$ (193,395.17)	\$ (451,895.17)	

This column reflects cost if the County hauls materials. Commingle for Option 1 can only be considered as the County has no ability to load other materials. Used for comparison purposes only for other materials.

**THE DIRT EXPRESS COMPANY**

**DELIVERY TO BFI MARKETS**

Proposal	Description	Recyclables Bid Amount	Tranportation Option #1 Contractor's Trailer	Proposed Bid Totals
#1	Paper Recycling	\$ (220,918.00)	\$ (175,388.16)	\$ (396,306.16)
#2	Commingle	\$ (68,790.12)	\$ (124,514.01)	\$ (193,304.13)
#3	Mixed Plastic With Metal	\$ (15,262.94)	\$ (30,217.25)	\$ (45,480.19)
#4	Mixed Plastic Without Metal	\$ (11,978.00)	\$ (30,217.25)	\$ (42,195.25)
#5	Paper and Commingle	\$ (292,756.12)	\$ (599,804.34)	\$ (892,560.46)
#6	Paper, Commingle and Plastic with Metal	\$ (304,747.90)	\$ (918,349.29)	\$ (1,223,097.19)
#7	Paper, Commingle and Plastic without Metal	\$ (358,011.24)	\$ (918,349.29)	\$ (1,276,360.53)

**DELIVERY TO CANUSA MARKETS**

Proposal	Description	Recyclables Bid Amount	Tranportation Option #1 Contractor's Trailer	Proposed Bid Totals
#1	Paper Recycling	\$ (66,122.50)	\$ (163,998.62)	\$ (230,121.12)
#2	Commingle	\$ (44,375.10)	\$ (133,819.25)	\$ (178,194.35)
#3	Mixed Plastic With Metal	\$ (10,600.00)	\$ (28,301.17)	\$ (38,901.17)
#4	Mixed Plastic Without Metal	\$ (10,600.00)	\$ (28,301.17)	\$ (38,901.17)
#5	Paper and Commingle	\$ (110,497.60)	\$ (28,904.96)	\$ (139,402.56)
#6	Paper, Commingle and Plastic with Metal	\$ (121,097.60)	\$ (34,257.73)	\$ (155,355.33)
#7	Paper, Commingle and Plastic without Metal	\$ (121,097.60)	\$ (34,257.73)	\$ (155,355.33)

**DELIVERY TO GOODE MARKETS**

Proposal	Description	Recyclables Bid Amount	Tranportation - Option #1 Contractor's Trailer	Proposed Bid Totals
#1	Paper Recycling	\$ (114,393.75)	\$ (103,610.91)	\$ (218,004.66)
#2	Commingle	\$ (89,224.98)	\$ (73,612.01)	\$ (162,836.99)
#3	Mixed Plastic With Metal	\$ (8,268.00)	\$ (17,506.51)	\$ (25,774.51)
#4	Mixed Plastic Without Metal	\$ (7,261.00)	\$ (17,506.51)	\$ (24,767.51)
#5	Paper and Commingle	\$ (229,000.00)	\$ (177,222.92)	\$ (406,222.92)
#6	Paper, Commingle and Plastic with Metal	\$ (258,500.00)	\$ (194,729.43)	\$ (453,229.43)
#7	Paper, Commingle and Plastic without Metal	\$ (258,500.00)	\$ (194,729.43)	\$ (453,229.43)